Chapter 5 Multiplying and Dividing Polynomials
Polynomials by a Binomial

Name: Date:

Learning Goal 5.3 | can multiply and divide polynomials.

Recall the area model for multiplying and dividing polynomials by a monomial.
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The same rules apply if that constant is replaced with a binomial (_(Q\ Z’jf”! ) %hg é iﬂ DTY\\QQ )

Example Expand and simplify, if possible.
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Assignment p.255#4-12,16,19-22 Quiz Next Day!
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Find the greatest common factor of the following expression, then factor the expression. eNen \j
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